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LANGUE VIVANTE | Epreuve du 1° groupe

ANSWER KEY

I. READING COMPREHENSION: 08 marks

A. Error Correction: (0.5 x 4 = 02 marks)

Errors 1. Syria 2. political instability 3. European | 1. offices 3. rape
smugglers
Correctinfo | Guinea socio-economic  push | armed groups | informal sector | torture
factors

B. MCQ: (0.5 x 2= 01 mark)
8. Itinerary of migrants of the past: c¢)
7. Itinerary of migrants today: a)

C. Scanning: (0.5 x 2= 01 mark)
8. Governance vacuum
9. ... migrants leave their countries as a result of socio-economic push factors.

D. Cloze Test: (0.5 x 4= 02 marks)
10. overwhelmingly 11. crossing 12. smuggling 13. journey

E. Information transfer: (0.5 x 4 = 02 marks)

Main reason Main consequence(s) Suggested solutions
Government 14.  Increase of irregular | 15. Overcoming short-termism
Vacuum migration / Control of smuggling | 16. Encourage smugglers to disengage
in Libya industry by armed groups such activities
17. Long-term development initiatives
to generate occupations in West Africa

II.  LINGUISTIC and COMMUNICATIVE COMPETENCE: 06 marks

F. Dialogue Completion: (0.5 x 4 = 02 marks)
13. are now being sold
19, 20. and 21.: Any coherent and grammatically correct answer.

G. Connector Cloze Test: (0.5 x 4 = 02 marks)
22. Despite 23. On the contrary 24. thanks to 25. Otherwise

H. Sentence/Notion Matching: (0.5 x 4 = 02 marks)
26. Cause 27. Warning 28. Suggestion 2. Probability

IH1. WRITING: 06 marks

Coherence and Cohesion: 02 marks / Accuracy: 02 marks
Organization: 01 mark / Originality: 01 mark



